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Note :—This question paper consists of three Sections A, B and C.
SECTION A
L Very Short Answer Type Questions : 10%x2=20
(f)  Answer ALL questions.
(i) Each question carries TWO marks.
1. Ifzy = (8, 6) and 2o = (2, 6), find z; - 2z,
2. Find the multiplicative inverse of the complex number /5 + 3i.
3. If A, B, C are angles of a triangle such that x = cisA, y = ris B,
z = cis C, then find the value of xyz.
4, If x2 — 6x + 5 = 0 and 2 - 12¢x + p = 0 have a common root, then
find p.
5. If a, B, vy are the roots of
43 — 622 + Tx + 3 = 0,
then find the value of aff + Py + yo.
6. If "P; = 42 - "Pj, find n. _
T Find the number of ways of forming a committee of 5 membors from 6
men and 3 ladies.
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8. If A and B are coefficients of »® in the expansion of (1 + x)2" gnd

A
(1 + 2)®® = 1 respectively, then find the value of 5

9. Find the mean deviation about the mean for the following data :
3, 6, 10, 4, 9, 10. _
10. A Poisson variable satisfies P(X = 1) = PX = 2). Find P(X = 5).

SECTION B
II.  Short Answer Type Questions : 5x4=20
@)  Attempt ANY FIVE questions.
(@)  Each question carries FOUR marks,
1. If (x - ip)¥8 = 8 ib, then show that -

§+ %;4(32 = bz).

. ikl 43 Do =1
12. If x is real, prove that x’ —px+9 lies between 1 and 1.

138. Find the sum of all 4 digited numbers that can be formed using the digits
0, 2, 4, 7, 8 without repetition.
14. Prove that :
2504 & i @-ng, = ¢, .
r=0
15, Resolye :

x+3
(1-x)? (1 + xz}
irto partial fractions.
16. A and B are events with P(A) = 0.5, P(B) = 0.4 and P(A n B) = 0.3.
Find the probability that :

(@) A does not occur
(ii)  Neither A nor B oceurs,

0266-A



17.

18.

19.

21.

[ 3]
A problem in calculus is given to two students A and B whose chances

1 1
of solving it are 3 and 1 respectively. Find the probability «f the problem

being solved if both of them try independently.

SECTION C
Long Answer Type Questions : ) 5x7=35
(1) Attempt ANY FIVE questions.
(@) Each question carries SEVEN marks.
If o, B are the roots of the equation x2 — 2x + 4 = 0, then for any
n € N, ghow t;hat g

o +p" = 2“*1ms(n—;t~J.

Solve the equation :
‘ 6x6 — 25x5 + 31x* — 31x2 + 25x — 6 = 0.
If the coefficients of x9, x19, ¥11 in the expansion of (1 + x)" are in A.P.,
then prove that n2 — 41n + 398 = 0.
Find the sum of the series :
3:5 3:5:7 3:5:7-9
= = - F aecrrenns 09,
5-10 5-10-15 5-10:-15-20

Find the mean deviation from the median for the following data .

12
15
13
21
22

(v ]
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23. Define independent and depeﬁdent events. State and prove multiplication
theorem of probability. :
24. The range of a random variable X is {0, 1, 2}. Given that : -
PX = 0) = 8C3 PX = 1) = 4C - 10C% PX = 2) = 5C - 1.
(i)  Find the value of C.
(@) PX < D, P(1 <« X< 2) and P(0 < X < 3).
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BHVE 1—s | SHIB0S® A, B, C o3 Srd Jgerrer dTQon.

e il | Deeiisn A

L ®©8 Jgoy JEEEES sySE  (SHen - 10x2=20
@ . e SHek Sdrgrorm  weabod. ) |
@) @8 @{F Vo drdyes.

L s (I3,I B) $H0dm zy = (2, 6) wond z; * zp & §58%08.

2 sody Somg JG+3i B wd DIy EREyol.

8 A B Ce @euos® B%mren. x = cisA, y = cisB, 2z = cis C wowd xyz
DS K608, '

4. 2 —6c + 5 =0 S0 x2 — 12x + p = 0 o asud oo a0,
p E08°%06. .

5. 43 - 622 + Tx + 3 = 0 Sweoren o, B, ¥ w8 aff + Py + yo dewdew
a’&é’“b.o&.

6. Py = 42 - "Py ®ond n Qod?
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3, 6, 10, 4, 9, 10,
10. o8 Faver§ o PX = 1) = PX = 2) & &850800. PX = 5)&
é’:&é’s&o&.
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4
W Bc,+ Y ®7c, 'C; ©d derdoos.
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x+3 .
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Sof NS0’ nE IHIGH G Iorghes A, B ok &Y S SHsgS

| 1 1
FBod SogrSghes SHST T HOAL . OEEe  HEoorr MBI

3
FPoBAIE  (HAHH X, © SHIH  FdosHe IJogrSgE  Qod?
Qgerisn C
88 Sarees svst | Sfes : 5x7=35

@) B> oo (SHoH ISrgrrer abos.

@) B8 SHK d Sredyen.

18.

19.

21.

%2 - 2t + 4 = 0 $HE5wo sweereny o, B v wowd n e N & :

o+ Bt = 2"-*1003[%] el SreSod.

625 — 25:6 + 31xt — 3122 + 25¥ - 6 = 0 35Ty Fdoses.

(1 + 2)* g 0as” 29, x10, %1l o Mameres wos@46° asod
n? — 41n + 398 = 0 ©2 SrSb.

Bod oFoSFE FwFo IWE%HSE :

35 " b " 3:5-7-9
5-10 5-10-15 5-10-15-20

Bod Hemowil  HIgHSe Hod HEgH IToso LHE%0s

x; f;
6 4
9 5
3 3

12 2
15 5
13 4

21 4

22 3
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23. SedoE HOAL eRsoE Podeod ARVodos. JoprdSgsi e ‘.\':nc::oiia’méa
(SSDoD, AdrrboSos.
24. o¥ oeEYE Sood agd X = {0, 1, 2).
P(X = 0) = 3C%, P& = 1) = 4C - 10C2, P(X = 2) = 5C - 1 SRS
@ C o= e _
@ PX<1),Pd<X<c<2) S8 PO <X <3) o a’.:s:;é‘*‘a.éa.



